Addition to 10 Cards

Printing:

These can be printed on ordinary 83" by 11" paper, but if you expect to use them
often it is much better to purchase card or cover stock. This heavier tag comes in sev-
eral weights. These will be easier to use and will stand up to handling. This card stock will
go through most printers.

Card/cover stock comes in colours, too - and this makes the cards look more inter-
esting.

Cut the cards apart on the lines.

Ideas for use:

- The student must understand the + sign and the = sign. The plus sign means that
we are putting things fogether, and the amounts must be the same on both sides of the
equal sign.

- It is important that the student can form the equations with objects. In other
words, if a card that says 5 + 3 = the child should be able to show 5 things and 3 things
and count them to find how many and complete the equation. To count the objects, the
child should not re-count the largest number - just say it and count on with the smaller
group of objects (say 5 and count 6, 7, 8). After this has been thoroughly learned, then
the questions should be answered without the objects - the child should be able to count
on from the largest number mentally or aloud.

- Objects can be buttons, blocks, small toys, rocks, etc.

- The cards can be flashed and the student simply give the answer.

- Sort the cards and put the cards that have the same answer together - for ex-
ample, find all the cards that equal 4.

- You can mix the cards and ask the questions orally.

Help the child to say the largest
number and count the smaller number of
things from there.

6 + 2, for example, the child should say
“6.... 7, 8.")

3 +7 = Say 7 and count on 3 numbers.
"7...8,9, 10"




O+1=  0Q+2-=
0+3= 0+4-=
0+5=  0+6=
0+7=  0O+8-=




0+9= 0+10=
1+0=  1+2-=
1+3=  1+4-=
1+5= | 1+6=




1+7= | 1+8-=
1+9=  2+0-=
2+1=  2+2-=
2+3= | 2+4-=




2+H5=  24+6=
2+7= | 2+8-=
3+40=  3+1-=
3+42= | 3+3-=




3+4= 3+5-=
3+6= 3+7-=
4+0=  4+1-=
4+2= | 4+3-=




4+4= 4+5-=
4+6= 5+0-=
5+1= 5+ 2=
5+3=  H+4-=







7+2=  T7+3-=
8+0=  8+1-=
8+2=  94+0-=
9+1= | 10+0-=




